
36°

ul
ič

ná
 fa

sá
da

ul
ič

ná
 fa

sá
da

Vx
1

Vx
2

Vx
2

Vx
2

Km
1

Kv
4

Kv
5

Kv
6

Kp
p

Kp
p

Kp
p

Kv
7

Kv
7

Kv
7

Kv
7

Kv
8

Kv
8

Kv
8

Kv
8

Kv
8

Kv
8

Ss
B

Ss
B

Ss
B

Ss
B

Vx
2

Vx
2

Vx
2*

Vx
2*

Vx
3*

Vx
3*

Vx
3

Vx
3

22°

Kv
7

Kv
0

Kv
2

Sr
4

34°

36°

Lx
U

Km
2

str
ec

ha
 vý

ťa
hu

do
dá

vk
a 

ša
ch

ty

Le
ge

nd
a 

zn
ač

ie
k 

- s
tre

ch
a

P
lo

ch
a 

st
re

ch
y 

= 
10

15
,0

0m
Ú

žľ
ab

ie
 =

 2
1,

0m
N

ár
ož

ie
 =

 2
1,

0m
H

re
be

ň 
= 

50
,0

m
O

dk
va

po
vá

 h
ra

na
 =

 1
11

,0
m

V
x2

 - 
st

re
šn

é 
ok

no
 V

E
LU

X
 G

G
L 

+ 
S

C
L 

66
0x

11
80

m
m

  =
 1

3k
s

V
x2

*
 - 

st
re

šn
é 

ok
no

 V
E

LU
X

 G
P

L 
+ 

S
C

L 
66

0x
11

80
m

m
 =

 4
ks

V
x3

 - 
st

re
šn

é 
ok

no
 V

E
LU

X
  G

G
L 

+ 
S

C
L 

78
0x

11
80

m
m

 =
 4

ks

V
x1

 - 
st

re
šn

é 
ok

no
 V

E
LU

X
  G

G
U

 +
 S

C
L 

- 5
50

x7
80

m
m

 =
 1

ks

V
x3

*
 - 

st
re

šn
é 

ok
no

 V
E

LU
X

 G
P

L 
+ 

S
C

L 
78

0x
11

80
m

m
 =

 4
ks

K
ry

tin
a 

je
 n

av
rh

nu
tá

 B
ob

ro
vk

a 
To

nd
ac

h 
s 

pr
ís

lu
še

ns
tv

om
.

K
v0

 - 
op

le
ch

ov
an

ie
 o

dk
va

pu
 (z

áv
et

er
ná

 li
št

a)
 - 

r.š
.3

30
m

 =
 4

8,
m

K
v2

 - 
le

m
ov

an
ie

 b
oč

ný
ch

 s
tie

n 
pr

i v
ýť

ah
u 

- r
.š

. 5
00

m
m

 =
 4

6,
0m

K
v4

 - 
op

le
ch

ov
an

ie
 š

tít
ov

ej
 s

te
ny

 - 
r.š

. 7
50

m
m

 =
 2

3,
0m

K
v5

 - 
le

m
ov

an
ie

 š
tít

ov
éh

o 
m

ur
iv

a 
- r

.š
. 5

00
m

m
 =

 2
3,

0m
K

v6
 - 

op
le

ch
ov

an
ie

 ú
žľ

ab
ia

 - 
r.š

. 7
50

m
m

 =
 2

4,
0m

K
v7

 - 
po

do
dk

va
po

vý
 ž

ľa
b 

d=
16

0m
m

 - 
r.š

.=
33

0m
m

 =
 1

06
,0

m
K

v8
 - 

od
pa

do
vé

 p
ot

ru
bi

e 
d-

12
5m

m
, r

.š
. =

 4
00

m
m

, 7
x8

,0
=5

6,
0m

   
   

   
   

   
   

   
 +

 7
 x

 h
or

né
 o

dp
ad

ov
é 

ko
le

no

K
pp

 - 
po

zi
nk

ov
an

ý 
od

kv
ap

ov
ý 

pl
ec

h 
- T

on
da

ch
 1

,8
5m

 =
 6

4k
s

S
sB

 - 
pr

ot
is

ne
ho

vá
 z

áb
ra

na
, (

šk
rid

la
, d

rž
ia

k,
 m

re
že

) =
 1

00
,0

m

Lx
U

 - 
st

re
šn

é 
ok

no
 L

um
in

ex
 =

 1
ks

K
m

v1
 - 

op
le

ch
ov

an
ie

 k
om

ín
a 

2,
0 

x 
0,

8m
K

m
v2

 - 
op

le
ch

ov
an

ie
 k

om
ín

a 
1,

45
 x

 0
,8

0m

V
še

tk
y 

op
le

ch
ov

an
ia

 - 
žľ

ab
y,

 z
vo

dy
, l

em
ov

an
ia

, ú
žľ

ab
ia

, o
pl

ec
ho

va
ni

e 
ko

m
ín

a 
- s

ú 
pr

ev
ed

en
é 

z 
m

ed
en

éh
o 

pl
ec

hu
 h

r. 
0,

6 
m

m
. 

K
la

m
pi

ar
sk

e 
ko

nš
tru

kc
ie

 je
 p

ot
re

bn
é 

vy
ho

to
vi

ť p
od

ľa
 S

TN
 7

3 
36

 1
0.

15


